
 

 

Year 9  

 

Knowledge  

Organisers 

 

Module 4 

 

Yate Academy  

High Expectations, High Achievement  

 



  



 



  



 



 



Plot 
 Act 1: The family are celebrating Sheila and Gerald’s engagement.  Birling makes speeches saying there will be no war, and the Titanic is unsinkable. An Inspector arrives and tells them Eva Smith has committed suicide. He gets Mr B 

to admit sacking her.  He doesn’t take blame. Inspector gets Sheila to admit getting her sacked for laughing. She feels guilty and ashamed of herself. 

 Act 2: Inspector gets Gerald to admit having an affair with Eva Smith (now called Daisy Renton after a name change). Sheila is upset and questions her relationship with Gerald. Inspector gets Mrs B to admit not helping Eva when she 
came to Mrs B’s charity for help when she became pregnant.  Mrs B says it should be the father’s responsibility. 
At the end of the Act, we realise that the father of Eva’s baby was Eric. 

 Act 3: Eric’s involvement with Eva is revealed and a possible rape is hinted at, as he says he forced Eva.  The Inspector gives his final speech about fire, blood and anguish.  He is warning the family that if they don’t start to take 
responsibility for others, they will live to regret it.  Inspector then leaves.  Gerald finds out that the Inspector wasn’t a real inspector.  Mr B rings to check and there is no Inspector Goole.  Also, there is no dead girl!  
Mr and Mrs B (and Gerald) celebrate and act like nothing has happened. Sheila and Eric still feel guilty and can’t go back to how they were before.  
Right at the end, the telephone rings and they are told that a girl has just committed suicide and an inspector is on his way over to ask some questions.  

Characters 

 Mr Birling: Arrogant and Capitalist businessman who hates social equality 
and loves money.  Sacks Eva from his factory when she asks for equal pay 
for women and threatens a strike. 

 Mrs Birling: Snobbish and cold-hearted Capitalist who believes everyone is 
responsible for themselves.  Doesn’t help Eva when she comes to the 
charity for help. 

 Inspector Goole: Priestley’s mouthpiece (represents JBP’s ideals), keen 
Socialist who fights for community responsibility and gets the Birlings to 
face up to what they have done. 

 Sheila Birling: The daughter.  Gets Eva sacked from the shop for smirking 
at her. Starts off as a spoilt rich girl but quickly changes her views, feels 
sorry for Eva Smith and starts to become Socialist as the play progresses.  
Is ashamed of her parents at the end. 

 Eric Birling: The son. Drinks too much and has a one-night stand with Eva.  
Ends up getting her pregnant and steals from his dad to give Eva money.  
Regrets his actions and changes his ways.  Ashamed of his parents at the 
end. 

 Gerald Croft: Sheila’s fiancé.  Businessman who has Capitalist ideals and is 
similar to Mr Birling politically.  Shows some regret for his affair with Eva, 
but happy to act like nothing has happened when it suits him.  

 Eva Smith: A young working class woman, who is exploited by wealthy, 
middle class people. She is presented as a very innocent and vulnerable 
character and is used to represent the powerlessness of the working class. 
She is attractive, honourable and she is forced to become a prostitute.  

 
Themes 
GENERATION / RESPONSIBILITY / JUSTICE/ GENDER / SOCIAL CLASS/ INEQUALITY 

 

Context 
 1912 – when the play was set.   Just before WW1 and the sinking of the Titanic.  JBP wanted to 

make sure audiences in 1945 recognised the problems in society in 1912 before the wars (class 
system, Capitalism, sexism) and weren’t tempted to go back to living like that.  He wrote the 
play to highlight the dangers of the Capitalist lifestyle.  

 1945 – when the play was written and performed.  After WW2, society changed for the better.  
The benefit system started to be introduced, and we had more equality for women and less of a 
class divide because of different classes and different genders mixing in the war effort.  JBP 
supported and encouraged these changes and wanted to make sure he promoted them in his 
play by making Capitalists like the older Birlings appear ignorant and selfish. 

 Socialism – JBP was a keen socialist.  This meant that he wanted everyone to look after each 
other rather than just caring about themselves. He was trying to promote this with the play, by 
making the Socialist characters like the Inspector much more respectable than the Capitalist 
ones. JBP uses the Inspector as a mouthpiece for this. 

 Capitalism – JBP hated Capitalists – those who thought that everyone should only care about 
themselves and that making money was more important than human rights.  He created Mr and 
Mrs Birling as Capitalists, in order to make Capitalism seem out-dated and selfish.  Mr and Mrs B 
are portrayed in a negative way by JBP for this reason. 

 Class/social mobility – In 1912, the social classes were segregated, women got paid less than 
men for the same work, there was no benefit system or help with unemployment or housing. 
Society was patriarchal (men ruled). 

 Family life and gender – Men expected to support the perfect family and protect women. 
Wealthy middle class women were expected to marry into money and plan parties and have 
children. No housework. Children were expected to be obedient and unquestioning.  

 Stereotypes – the men and women start out as stereotypes. Women: shopping, clothes, 
weddings, protected, jealous, hysterical. Men: Work, duty, hero, womanising, drinking. By the 
end, the stereotypes are reversed – Sheila and Eric get stronger. The others get weaker. 

 

Vocabulary 
 Dramatic Irony  

 Tension / suspense 

 Monologue 

 Capitalist 

 Socialist 

 Interruptions 

 Metaphor  

 Triplets / list of three 

 Stage Directions 

 Patriarchy/patriarchal 

 Contrast 

 Direct Address 

 Priestley’s Mouthpiece 

 Repetition 

 Playwright 

 Audience 

 Noun/verbs/adjectives etc 

 Imperatives 

 Interrogatives 

 Exclamatory 

 Declarative 

 Colloquial language 

 Metaphor 

 Omniscient 

 Euphemism 

 Imagery 

 Setting 

 Hierarchy 

Key quotes – character 
Mr B: ‘Hard-headed business man who has to look after himself and his own’ 
‘I refused, of course’ 
‘The famous younger generation…and they can’t even take a joke’ 
 
Mrs B: ‘A rather cold woman and her husband’s social superior’ 
‘Girls of that class’ 
‘In the morning they’ll be as amused as we are’ 
 
IG: ‘Millions and millions of Eva Smiths and John Smiths…we are responsible for each other’ 
‘They will learn in fire and blood and anguish’ 
‘Burnt her insides out of course’ 
 

 Key quotes - theme 
Eric: ‘Not quite at ease, half-shy, half-assertive’ 
 ‘I was in the sort of state where a chap easily turns nasty’ 
‘The money’s not the important thing’ 
 
Gerald: ‘We’re respectable citizens and not criminals you know’ 
‘Easy well-bred young man-about-town’ 
‘What about this ring’ 
 
Sheila: ‘very pleased with life and rather excited 
‘You mustn’t try to build a kind of wall between us and that girl. If you do, the Inspector will just break it down’ 
‘It frightens me the way you talk’ 

 

 Love and relationships poetry Knowledge Organiser Yate Academy English Faculty 
 



 



FRENCH YEAR 9 MODULE FOUR (MRS TWINBERROW): DE LA VILLE À LA CAMPAGNE - MO 1 – 10 :  (KPI 1 Know the key vocabulary for the module)  
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Paper One- Living with the Physical Environment- Section C- River Landscapes in the UK  

 

Key words 
 

Hydraulic 
action 

Waves crash against rocks and compress air in the cracks 
which puts pressure on the rocks.  Repeated compressions 
widens the cracks and causes part of the rock to break away 

Abrasion Eroded particles in the water scrape and rub against the rock 

Attrition Eroded particles in the water smash against each other and 
break in to smaller fragments  

Solution Chemicals in the water dissolve the rock  

Vertial 
erosion 

This deepens the river channel making it V shaped in the 
upper course of the river 

Lateral 
erosion 

This widens the river channel in the middle and lower 
courses of the river  

Traction Large particles like boulders are rolled along the river bed  

Saltation Pebble sized particles are bounced along the river bed 

Suspension Small particles like silt and clay are carried along by the 
water 

Solution Soluble materials dissolve in the water  

Deposition  Sediment is dropped by the sea when it loses energy 
 

KPI 1 Describe and explain the changing features of a rivers long 
and cross profile (pg.66) 

 

KPI2 Describe and explain the formation of landforms in the upper course of 
the river (pg68) 
 
Interlocking Spurs 

 In the upper course of the river most of the erosion is vertical which creates 
V shaped valleys.  

 Rivers aren’t powerful enough to erode laterally which means they have to 
wind around the high hillsides in their path. 

 The hillside interlock with each other and the river winds around them. 
Waterfalls 

 Formed when a river flows over an area of hard rock followed by softer 
rock. 

 The softer rock is eroded quicker (by hydraulic action and abrasion) creating 
a step in the river.  

 As water goes over the step the erosion continues which creates steep 
drop.  

 The hard rock is eventually undercut and collapses.  

 The collapsed rock swirls around the foot of the water fall eroding the rock 
(abrasion) creating a plunge pool.  

 Overtime the waterfall retreats leaving a gorge.  

KPI3 Describe and explain the formation of landforms in the middle course of the river 
(pg69) 
Meander  

 Rivers develop large bends called meanders in the middle and lower course. 

 The current is faster on the outside of the bend because the channel is deeper and 
there is less friction.  This means there is more erosion in this area. 

 The current is slower in the inside of the bend because the channel is shallower.  This 
means there is deposition in this area forming slip-off slopes. 

Oxbow lakes 

 Meanders get larger over time.   

 Erosion causes the outside of the bends to get closer until there is a small piece of 
land left between them called the neck.  

 The river eventually breaks through his land and the river flows along the shortest 
course.   

 Deposition eventually cuts off the meander forming an oxbow lake.  

KPI4 Describe and explain the formation of 
landforms in the lower course of the river  (pg. 
70) 
Floodplains  
A wide flat valley floor on either side of the river.  
When a river floods the water deposits material 
making the floodplain higher. 
Levees 
Natural embankments (raised bits) along the edges 
of the river. During flooding material is deposited 
with the largest pieces closets to the river.  Over 
time this builds up.  
Estuaries  
Found at the mouth of the river when it enters the 
sea. Water is tidal and floods the banks. Material is 
deposited which creates mudflats.  

KPI5 Describe and explain the key characteristics of a storm hydrograph (pg. 73) 
 

 

KPI6 Evaluate the techniques used to reduce the risk of flooding (pgs.74-77) 
 

Method Benefits Disadvantages  

Dams and reservoirs (hard) Reservoirs store water reducing the volume of water downstream.  Water can be used for 
drinking and HEP. 

Dams are very expensive to build and reservoirs can flood existing settlements. Material is deposited in 
the reservoir affecting farmland downstream 

Channel straightening (hard) Water moves quickly reducing the risk of flooding Flooding risk and erosion rates increase downstream as the water ins moving faster.  

Embankments (hard) Increasing the volume of the channel Very expensive and they can break 

Flood relief channel (hard) River discharge is reduced and gates can control the release of water There is increased discharge as the water is released after the flood 

Flood warnings (soft) People have time to move belongings upstairs and evacuate  They don’t prevent flooding and people may not hear them  

Flood plain zoning (soft) The risk of flooding is reduced as building work does not happen on the floodplain Space is limited in some urban areas which can cause conflict and some floodplains are already built on 

Afforestation (soft) Interception increases which reduces discharge.  Creates habitats.  Less land available for farming 

River restoration (soft) Removing land made levees allows flood plains to flood.  River is in its natural state Local flood risk increases if nothing else is done  
 

 

Rivers flood due to both human and 
physical factors. 
Physical; 
Prolonged and/or heavy rain 
Geology- impermeable rocks prevent 
infiltration which increases run-off.  
Relief- the change in the height of 
the land.  
Human; 
Land use- buildings are made of 
impermeable rock 
Trees intercept water and 
deforestation increases the volume 
of water reaching the river.  

http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwjxgNLrlbPVAhVFND4KHRX_ABEQjRwIBw&url=http://www.coolgeography.co.uk/GCSE/AQA/Water on the Land/Processes/Long Profiles.htm&psig=AFQjCNFFzJMIey6JCJyuFiBnkmLEB9hO9g&ust=1501578442201908
http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwj7mNWimbPVAhWGVz4KHZPSCjwQjRwIBw&url=http://thebritishgeographer.weebly.com/hydrographs-recurrence-intervals-and-drainage-basin-responses.html&psig=AFQjCNEhhsyw6BhC_hwiYKRXR_zTtCua0w&ust=1501579370006169


 Module 4- Career Pathways within the hair and beauty sector 

 

 

 

 

  

 

 

 

 

 

 

Data protection Act- Only relevant information should be collected, the information should 

only be used by the professionals involved and not with a third party, information should be 

held securely and should be updated regularly and available for the client if they wish to 

see their own.  

 

 

  

 

  

Job roles in hair and beauty  

Hairdresser, Beauty Therapist, Spa 

Therapist, Barber, Massage therapist, 

Nail technician, Makeup artist  

Key words Description of key word 

Career An occupation undertaken for a significant 

period of a person’s life with opportunities for 

progress 

Job role An overall description of what a person is 

expected to do in their job position.  

Job responsibilities  Specific tasks a person is expected to do as 

part of their job role 

Salary 

 

A fixed regular payment, typically paid on a 

monthly basis but often expressed as an 

annual sum, made by an employer to an 

employee.  

Skill set A skill set is a particular category of skills 

necessary to acquire a job.  

Education and training College, Schools and private academy’s offer 

hair and Beauty courses/apprenticeships 

Attributes Features or qualities that are part of 

someone’s character 

Job Role Description of job role 

Assistant Is a person who is not yet qualified but may 

have started their training 

Junior Could be a newly qualified person or about to 

finish their training  

Senior  Is a fully qualified person with a minimum of 

one- two years’ experience 

Consultant Is a fully qualified person, with a least three 

years’ experience 

Salon manager/owner Is a fully qualified person with at least 5 

years employment and some management 

experience  

Employment status Description 

Self- employed  Do not have a contract of employment 

 You must pay your own income tax and NI 

 You decide how much to charge for your 
work 

 You choose your own hours and choose 
your own holiday 

 You do not get paid for sickness and 
holiday 

 You must be entitled to a safe and healthy 
working environment 

 Your maternity allowance is slightly 
different  

  
 

Employed  You work under a contract of employment that states 
all the terms and conditions relating to your job role 

 Your employer is obliged by law to deduct tax and NI 
from  your wages  before paying them to you 

 You are entitled to maternity leave, adoption leave 
and paternity leave.  

 You cannot be unfairly dismissed and you should get 
statutory redundancy pay.  

 You are entitled to holiday pay 

 Some employers pay sick pay but not all of them 
 



Module 3  

BTEC Level 1/ 2 Tech Award in Health and Social Care   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

Life events are expected or unexpected events that occur in an individual’s life. You will explore the different 

events that can impact on people’s physical, intellectual, emotional, and social development. 

Physical events 

 

Accident 

 

Injury 

 

Ill health  

 

 

Relationship changes: 

 

Entering into relationships 

Marriage 

Divorce 

Parenthood 

Bereavement  

Life circumstances 

 

Moving house, school, job 

Exclusion from education 

Redundancy 

Imprisonment 

Retirement  

How can certain life events 

affect us Physically, 

Intellectually, Emotionally 

and Socially? 
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Key Facts 

 

 

IMPORTANT Ideas 

Equations: Always use ‘balancing’ (whatever you do to one side, you must do to 

the other side.) Check your final answer by substitution. Answers can be 

negative or decimal. 

Solving Inequalities: Unless you are multiplying or dividing by a negative you 

use exactly the same method as equations for solving. If you have a double 

inequality to solve, just split it into two separate ones and solve. 

Sequences: Whatever the sequence goes up in tells you the first part of the nth 

term rule. 

Changing the Subject: also called ‘rearranging’. Use balancing to get the given 

letter on its own. 

 
Key Words 

Integer A whole number 

Expression Contains unknown value but no equals sign.  

For example: 3x - 2 

Equation Contains unknowns and can be solved. 

For example: 27 = 6x + 3 

Formula Links one value to one or more other value. 

For example: V = r2h 

Identity Always true no matter what values are substituted 

For example: (a + b) = (b + a) 

 



Mathematics Year 9 foundation HT3 Knowledge Organiser 
 

 

 

 

 

 

 

 

 

 

  

Important Ideas 

 You need to memorise the various formulae for Area and Volume  

 If you are given the area or volume and asked to find a length, you 

will need to rearrange the formula at some point. 

 Arc lengths and Sector Areas are just fractions of the Circumference 

and Area of the circle. 

 Area scale factors are the length scale factors squared. 

 Volume scale factors are the length scale factors cubed 

Key Words 

Circumference: The perimeter of a circle. 

Arc: Part of a circumference. 

Sector: A part of the circle enclosed by two radii (Looks like a slice of cake!). 

Cross Section/Face: The 2D shape we get when cutting through a 3D shape. 

Prism:  A 3D shape with the same cross section along its length. 

Cylinder: A circular faced prism. 

Cone: Circular base, tapers to a single vertex. 

Trapezium: A four sided shape (quadrilateral) with one pair of parallel sides.  

Pyramid: The base is a polygon, the sides are triangles, meeting at the top. 

Sphere: A 3D object shaped like a ball. 

 

Key Facts 

 

 



BTEC SPORT – Knowledge Organiser - - Module 4 Body Systems  
 

  Long-term adaptations of the Skeletal and Muscular system to exercise 

Skeletal Adaptations Muscular Adaptations 

Increased 
Bone 
Density 

Bones become thicker 
and heavier which 
prevents fractures form 
occurring.  

Hypertrophy Muscles adapt to 
training by 
increasing in size. 
Muscle fibres tear 
with exercise and 
grow back thicker 
and stronger.  

Increased 
thickness 
of hyaline 
cartilage  

 Hyaline cartilage covers 
the ends of long bones 
and acts as a shock 
absorber.  

Skeletal 
Muscles adapt 

After substantial 
exercise skeletal 
muscles become 
more efficient at 
using oxygen and 
removing carbon 
dioxide.  

Increased 
stability 
of joints 
and 
strength 
of 
connectiv
e tissue 

Stronger muscles 
surrounding joints helps 
to support them. Regular 
exercise helps people 
lose weight which 
reduces the pressure on 
joints. Exercise and 
stretching helps joints 
move freely and 
strengthens ligaments 
and tendons.  

Increased 
number of 
mitochondria 

Most cells in the 
body contain 
mitochondria. 
These are small 
cells that burn food 
to produce energy. 
Exercise increases 
the number and 
size of the 
mitochondria 

Decreased 
risk of 
Osteopor
osis 

Osteoporosis is a lack of 
calcium in the bones 
causing them to become 
brittle and more likely to 
break. 

Improved 
Posture  

Core muscles in the 
body become 
stronger with 
exercise and help 
to support your 
skeleton and hold 
it upright. 

 

Short-term effects of exercise on the Cardiorespiratory System 

In order to supply the extra 
oxygen needed in blood to 
fuel the working muscles, 
the respiratory system has 
to work harder.  To do this 
we breathe more quickly 

Increased Tidal 
Volume 

As muscular activity 
increases, the production 
of carbon dioxide 
increases (a waste 
product) resulting in 
increased Tidal Volume  
Tidal Volume is the 
amount of air inhaled 
and exhaled with each 
breath. 

Lactic acid builds up in the 
muscles during short bursts 
of high intensity exercises.  
It is generated when there 
are not enough oxygen 
molecules to completely 
breakdown glucose in the 
body.  It is a waste product, 
which can cause a burning 
sensation in the muscles.  
Think about how it feels 
when you run the 300M in 
athletics. 

Re- distribution 
of blood flow 

When exercising blood id 
directed towards the 
working muscles and 
away from non-vital 
organs e.g. the stomach.  
This is done via the 
vasoconstriction 
(narrowing) of arterioles 
supplying inactive parts 
of the body and 
vasodilation (opening) of 
arterioles supplying 
skeletal muscle with 
more blood and 
nutrients 

This happens to get more 
oxygenated blood to 
working muscles.  This is 
due to increased heart rate 
(beats per minute) and 
increased stroke volume. 

Increased Blood 
pressure 

As the cardiovascular 
system works harder to 
deliver more oxygen and  
glucose to the muscles 
(systolic pressure rises 
and diastolic pressure 
remains the same) 

 



 
Biology 3: Infection and Response TRIPLE KNOWLEDGE ORGANISER 

 

 

 

 

 

 

  

 

KPI B22 p51

Aspirin Originates from the willow tree.

Digitalis
A heart drug.  Originates from foxglove
plants.

Penicillin
Discovered by Alexander Fleming from the 
Penicillium fungus.

New drugs

Most new drugs are synthesised by 
chemists in the pharmaceutical industry. 
The starting point may be a chemical 
extracted from a plant.

KPI B20 p49 

Pathogen A microorganism that causes disease. 

Bacteria A type of pathogen that produces toxins that damage tissues. 

Viruses 
A type of pathogen that lives and replicates within cells and causes cell damage.   
It is difficult to kill viruses without damaging cells.  

Antibodies 
Some white blood cells (lymphocytes) produce antibodies.  These bind to pathogens  
and destroy them or stick them together. 

Antitoxins Some white blood cells (lymphocytes) produce antitoxins. Antitoxins neutralise toxins. 

Antibiotics 
Antibiotics kill bacteria.  Specific antibiotics should be used for specific bacteria.   
Some bacteria are resistant to antibiotics.  Do not kill viruses. 

Painkillers Painkillers relieve symptoms but don’t kill pathogens. 

Phagocytosis Some white blood cells (phagocytes) engulf pathogens. 

 

 

 

 Nose 
Contains 

hairs and 
mucus 

to trap 

Trachea and 

Bronchi 
Produces 

mucus to trap 
pathogens.  

Contains cilia to 

Stomach 
Contains 
hydrochloric 

acid to destroy 
pathogens. 

Skin 
A 

physica
l 

KPI B22 p52 

Trial Stage Purpose 

1. 
Preclinical 

– cells, 

animals 

Test for toxicity 
 and efficacy before testing 
humans 

2. Healthy 
volunteers 

Very low doses 
to test for toxicity.   

3. Patients Larger groups.  Test for  
toxicity, efficacy and dose.  
Placebos may be used in a 
double-blind trial. 

KPI B22 p52 

Placebo A drug with no active 

ingredients, designed to  
mimic a real drug.  Used to  
test if the effects of a drug  
on a patient are just 
psychological. 

Double-blind 
trial 

The volunteers do not know  
which group they are in, and 
neither do the researchers,  
until the end of the trial 

Toxicity How harmful the drug is.   
May have dangerous  
side effects. 

Efficacy How effective the drug is. 

Dose The amount of the drug  
given to the patient. 
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